ol

GINS. 1O

TIRC.LUBURUTES  Fapier (1) Uujecuveril) (MURRE ) 1 VIS | BN ) Vg el elerd s Ly Y 1 Y T Y

RS PRI PY 570 | TS u:u:}lu’_":&_. ;&.bﬁdlrﬁ/‘Qb’L}'ﬂ-wi &b AHCBA &!‘Rbﬁl‘;ﬁ.d"’ﬁ ~t&d

Sl —1—2Y

szl d L §e S 3 S M St nimiie S

Note: - You have four choices for aach objective type question as A, B, C and D. The choice which you think Is correct; fill that circle in front of that
queston number m your answer book. Use marker or pon to {ill the circles. Cutting or fitling up two or more circlas will result no mark.

SECTION-A Jvr

ﬂ///g&«

Q1 Questions /= diy A B ¢ | D L
L oswds 1-sin’0 1 +tan’0 l+cos’0 + 1—tan’0
1 < O l o pb. 28 5 % ! )
2. " e PIoL-8 PR AMTAT | ! P £2mn’ p’ 2mntp" | td'n'p”
¢ The mean proportional of 4m® n* and p® is: B o
; N | - 2 1 . ) I ’ k , oy . i
3. My o —-then: fry w—A1 ¥ = yo=oy pr=x y o=k
' X X X X j
1 9 }2:4:.:_./";,‘?:(.:':!#&;; » 1 2 3 4 i
The number of methods to solve a quadratic equation is: : ‘ .
5. "?-"‘{"'.“"‘?"3."/-‘;"' 0 1 -1 3
i Sum of the cube roots of unity is: . . :
5 s34 Y H Be+16=0 1 . 16 " ‘
, i The discriminant of x'+ §x +16 = 0 is: » ) o
(Continued / PTO) (Eilale b
(2)
Questions /=iy A B c D
cer ¥ BR=x=2=0
7. 5 . (—12) (11-2} {Ir'l} {'-l»-z}
The solution set of x*—=x~2=0 is:
" o i LA ot &5 g 4 i
" | Tangents drawn at the end points of the diameter of | (pgrpandicular | Intersecting | Non-parallel | Parallel
_.g__r:x:«’lidf/ﬂjﬂl.g_}b < .
9. ! The semi circumference and the diameter of a circle 90 180 270 360
both subtend a central angle of:
- Y S £ 199 P2 11] At s /:‘ v bfnc-); X PN J(
"| Radii of a circle are All equal Allunequal D‘:}fgﬁgg}‘e Haifhgl;gny
- P || S Je v L 3N y-n 4lﬂ;uf; Wt .4177@,
‘| Atangent line intersects the circle at Single point Two points | Three points | No point at all
143 -‘c_JU:( »dhi..f._: /u.l_/'c.../u:ﬂr‘ir mu}v Hlbes w._b?iﬁ »k
-| The most frequent occurring observation in a data Arithmetic Harmonic
set is called: mean Median mean Mode
- ceofl (43P x46049 | ctlafsnf ehle b el
| (431 = xP+6x49 I Linear equation|  Equation Identity | In-equation
-t bl (-5, =7) & v
14, Point {~5, —7) lies in the quadrant: 1 u 1 !
15 ~§.Jn;'ﬁg;u2)ﬂ£i./wkf."r 4 2 3 5
'| The different number of ways to describe a set are:
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Notet- Section B is compulsory, Attempt any THREE (3) questions from Scction C but question No.9 is compulsory.
(SECTION-B_¢n.»)

2. Write short answars to any SIX parls. (6x2=12) gz Lingedt 2
i. Define exponential equation, ,zf..z,-? (5-‘—'!V£3U->J A
ii. Selve by factorization y’ +2y -89 = 0 Y+2y-98=0 cé(f A4 i
. 1Y 9 1y 9
ii. Solve (2,\'——) == 2x=-—| =~ £ iii
. 2) 4 2) 4 o

<

iv. Find the sum and product of roots of (/+mx*+(m+n)x+n-/=0 (l+m)x2+(m+n)t+n-l=0,ér}” S btk nf il i

<

v. Provethat s’ +y' = (x+ ) (x +wy) (x+@'y) L4y = (x+y) (x+0y) (x+@'y) et
Vi, Use synthetic division to find quotient and remainder, when: ; P ) 5 7 s i
(- Sx+15) + (c+3) - S 415) + (s et PSP o LS WP P S
Bap8SI i

vii.  Define joint variation.
Wi 1 ¥ 2 1

viii. WA = and A=2, when r =3. Find the constant of variation k.~ 25 IkJLIIr=B an=2 #AE S A it
r

60m : 90m: :20kg : X kg ﬁ.é()”x

ix. Findx,if 60m:90m: :20kg:x kg 8
3. Write short answers to-any SIX parts. (6x2=12) Xélf QU’Z;? /-"w‘v"'é’( -3
i. Whatis a proper fraction? Tq—aﬁ"{/w’-b i
i B +-—‘?—— thenfindvalueof AandB. &3 B AJn e +—£— fi i
(x-4)(x-3) x-4 %-3 (x-4)x-3) x-4 x-3
oy SeE Ly i

i,  Define intersection of two sets.
iv.  IfA={1357), B=(1234,5} then find A1B o ANB 7 nB=(12345)  A0357) [ v
(3-2a,b-De(a-1,20+ 5 f P boia v
.sz(}"uméu» L LxUinl=fabe)/i i
Epeler sl i

24,8 EeF1s Fhcte il

v. Findaandbif(3-2a,b-"=(a-7, 2b+9)

vi. IfL={abc} then find two binary relations of LxL.
vii. Write down two properties of arithmetic mean.
viii. Find the geometric mean of the observations 2,4, 8.

ix." Findmode:4,4.5566,6,7.7.567.5,8 8,8,6,5,6.5,7 4,4556866,77575,8,88,86,565,7 !éé(}"ub Jix

4. Writa short answers fo any SIX parts. (6x2=12) ,ég V4 iz LA:!I{LG! A
j, Convert %:5 into degree. ANV %’5 i

sin @(tan g +cot ) = secd Ao i
AI20 A 135G E O i
EoAluds v
Eapl s v
NI ALty i

So bl Vil

Ao sibng s LS P i
Eo s ix

(Tumover &)

i, Provethat sin f(tan @ + cot ) = secd .
iii. Find 6 when radius=3.5 cmand /=2cm
iv. Define radian.
v. Define right angle.
Jl. Differentiate between the chord and the diameter of a circle.
vii. Whatis meant by perimeter?

The length of the side of a regular pentagon is S5cm find the perimeter.

J14%

viii.

ix. Define cyclic quadrilateral.
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(SECTION-C /r.s)
(4+428) LA HNLIir 1-4-538(9) dlru-a & ez Lt 07

Attempt any THREE questions but question No.9 is compulsory. Each question carries EIGHT marks. (4+4=8)

5.(a)  Soive by using quadratic tormula: ¥4l d-x 3.1. Chy M =2-!- -"‘-ébyc-d(;”&ﬂ/ﬁdn» (a).5
x-1  2x 3 x-1  2x 3
(b)  Find the value of &, if sum of squares of the rools of the equation 4 # 5
4k\'2‘3k\"8 =0is2 a2 A!I'VU?"-’/‘L(} )Juk.l'2+3kV'8 =0 =hles féé()"’:ffé k ()
6(a)  Soive by using theorem of componendo - dividendo :aéJz,ﬁLfdu"lJbE"",__g;y (a). 6
- - dy 12 ot (-4 2
=2+ e =) 13 (x-2) +(x—-4)" 13
1 I
(b) R ¥ i i 1 i g :é Ay 447
esolve into partial fraction: =5 DD JL?JU’/LH ®)
7{a)  fU={123.......20}, X={137,9,15,18.20}, Y=(135........17} 7 Y=(135.......,17) X=(13.7.9,15,1820}U={123...... 201/1 (a).7
then show that X N Y =X-Y XN Y'=X-Y :fé.:z.t‘
(b) Find standard deviation: 12,6,7,3,15,10,18,5 12,6,7,3,15,10,18,5 :éifr?" S AS (0

. 7 - .
8(a) Ifsing- 34— andcos @ = ~43~,thcn find the values of tan@,cot 0, secf and cosec 0

3 . -3
.z’fr-}” =28 cosec @ i sech,cotB,tan@ ixn cosd = —I # sin@= _‘/iff (a).8
' 4
(b) Inscribe a circle in a AABC with sides [AB|=6cm, [BC|=3em, lcal=4cm.

A3 oz WIS CA o BC «AB iL i friftainr W AABC  (b)

. g ; ; = = g
9 Prove that perpendicular from the centre of a circleona chord bisects it. _d‘—l:'f e gf’ L 4/:0’ s /[_./’b.}' &Eear 9
OR ¥

Prove that the opposite angles of any quadrilateral

T o A . 1 T
inscribed in a circle are supplementary. L L e FIF L LRSS eing £t

111-224-1A-34000
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Note: ~You hava four choices for each objective typa question as A, B, C and D. Tha choice which you think is correct; fill that circle in front of that question
number in your answer book Use marker or pen to fill the circles. Cutting or fifling up twa or mors circles will result no mark.

Stul —~n~2Y

___SECTION-A s

Q1L questons/enr A B | ¢ D
| e e e ’ e S
1. e P == 0 3) 03 : "
j. . Solution set of x” - 3y =1 : s i . ¢
2 = et ax’ =0, } ax’ =hv+e =0, ; a +beve-0, | ax +hxte=0,
. Standard form of quadratic equation is: azl ! a=0 ! a=0 az0 ,
;V'lf"‘l‘.'_’. /)_\-" PN = 0 éy'.‘/./f.(( P i T o ‘ ) B ;
3. A K2 p 020 o . -
W, flaretheroots of px' 4 gy=r=0 | P ! P p P
_then sum of roots 2 and 2 fFis:
| Rt VR UL TPt g PPTISNG ] 1) !
< : . 1 " |
__._Product of cube root of unity is: 1 0 4 f
. S TGORPI R, —— i O
5. | ey L4y 515 i
. . . 4 ;
. Find xin proportion4 : x: - 5 15 20 e ! a0 :
‘ : e
, g8k i ; =
e v 5 N - :
o u v ’ vkt ! vowk vk ! wewlke i
i”——»:’:—-—-:k.th : § P
v w e ! 1
{Continued / PTO) i A
et e Q)
4]
{
| Questions /=i A B c D
i 7 o ,_,__,,.,_.(l (,\'4—3)2: x246x 49 &Ly ..-J:l/(f-zu—{ J,;if .-:J;L-,;"
i {x+3)%= x?+6x +9 is: An identity | A linear equation Polynomial Inequality
: ~A Fr , i
8. e tiusB-Air B AN § A () &
If BcAthen B-A=
g. ".'3"' Range R 45 R‘((13)»(2:2)1(3;1):(4»4»; {2,3,4) {1,2,3,4) {1,3,4) {1,2,3)
If R={(1,3),(2,2),(3,1),{4,4)} then the range of R is:
18 ; A& 73 L cndElars Y b ey bt
*The extent of variation between two extreme
lobservations of a data set is measured by: Variance Moade Range Average
| . ! i -
11. ~2—coscc45 = EW;1 ;i NE) 2V
- bl S ES L g L i b » 7 Jv
' ;ﬂ?ig’ft‘r‘;"igec:f! :J',V point of the circle to Radius Diameter Chord Tangent
13 -‘;..t‘/u"--_.fc...ibul,!}h,(l B L4 Wbt 4.t
A tangent line tauches the circle at: Single point Two points Three points Four points
b5 e 5T ¥ 7937 L 16 A ST ST . , . ,
Tl An arc subtends a central angle of 40, then the 60 50 i 30
icorresponding chord will subtend a central angle of;
’ SuEy v E e $ Lt 1 ) s )
151 How many tangents can be drawn from a
point outside a circle?

2 &

112-224-1A-24000 *
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Stol- "2—"25’ =GN F Bz Lurd e §lelfr e g Siipnow)

Note:- Section B is compulsory. Attempt any THREE (3) questions from Section C but question No.9 is compulsory.
(SECTION-B /».»)

2. Write short answers to any SIX parts. (6x2=12) -é{/’ M2 Lanige bl 2
i. Define reciprocal equation. -é—!/i Sl #
ii. Solve by factorization: 5y*=15x sx=1x (ESSA Ak i
ii. Convert 3x*-6x=x+20 Into two linear equations. -"ff (ﬂ(f’ dai:l/d_ n.._( »f3x°-6x=x+20 Il
iv. Write lh; quadratic equation whose roots are ~1 and 7. Ui, ‘7U’ . j bl sl iv
v. Find the discriminant of 9x*~30x+25=0 9x3-30x+2520 : o 0 v
vi. Provethat ¥ '= (-y) (e-0) (r-0’y) Keyi= () Ceay) ) it
vii. Find fourth proportional to 5, 8, 15. 5,8,15 ziff)",,«w:z i
viil. If woe _;_when w=3 and Z =7 then find . g Z=Tniw=5 swe % 4 & e o4 § k i
ix. If 3(4x-5y)=2x~Ty then find the ratio x:. b iy 2 in Nax-sp)=2x-Ty /i ix
3. Write short answers to any SIX parts. (6x2=12) -éZ/’ buﬁlj Lz 'i‘-éi -3
i. Define fraction, 5 .-é-’.'; A
i o z;)—(fs_ B = xi—\4 + . 133 ,then find the values of A and B. .&"((P"Lf‘:’é BAATr = z:;(ii 3 = xi\4 + E ? s
iii. Convertimproper fraction into'proper fraction: F el M :éédgdﬁ S b oty @il
(x-2)(x +3) (x=2)(x+3)
iv. Define Into function. _z’fq/ddt&?u; v
v. [fY={-212}, then make two binary relationsfor¥ x Y. el YxYinv={-2120/1 v
vi. 1X=(248,...20), Y={4,812,....24} then find Y~X L FYXT Y482, 24) X=(246,...200/1 i
vii. Define frequency distribution. _éq /76(_:" Gl il
viii. Find the modal size of shoe for the following data: ¥ e dr N\l b F oS UT R Ligsi i
4.4,5586,6,6,7,7,5,7,58,8,8,6,586,57 4,4,5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6,5,7
ix. Find harmonic mean for the given data:| X [12/ 5| 8 1 4 X 112(5/814 :aif(}" s el gl Loird s .ix
4. Write short answers to any SIX parts. (6x2=12) -é{/’ .:«w/"‘ L.fzhzz_éf .4
i, Convert -5—6£ to degree: ELessh ;_5_;{_ 4

[
ii. Find r when l=4cm, @ =-‘l;radians. l=4cm, 6 =-Zrad|ans, :-Qé-é(‘ff i

: cos’@ .
iii.  Verify the identities: C(?S . +sind = cosecéd — +5ind = cosecO@iE bl Fl i
sind sind

E 8w
-é...v,/'dg;ujb' v
PR T
B8 i
Eo A8y i

iv. Define coterminal angie.
v. Define right angle.

vi. Define secant,

vii. Define cyclic quadrilateral.

viii. Define polygon.

ix. The length of the side of a regular pentagon is 3cm. What is its perimeter? telf le’m.q,(:;dydd’[,‘/ )’ k! ix
(Tumover i)
ﬂ/ /'{
o’
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5.(a)

(€:)

6(a}

(b)

7(a)

(b)

E(a)

(b)

)
(SECTION-C /r.»)
AAHLr 1.2 880 LI £ apr L stive 2 &F

Ctr ~2—2Y

Altempt any THREE quastions. But question No.9 is compulsory. Each question carrios EIGHT marks,. (4+4:8)

(4+4:8)

Soive: 2\ =117+ 520 2x'-11x" 4520 éd' (a).5

Provethat ¥ < 1 47 ~302 =X 4 v+ 2) (Vo4 @'z) (X @'y @)

: 5 !
Ny ez 3= (vhy+z) (Kt oy+o'7) (XA o'y or)fEz: ()

& ¢ Wt 9 el A « ¢ 2 7
it L - 2 then show that: LMo :fic; N PR Lo (a)8
Eod b wd' + [ bdf b d f
AL S . . g F . X' -2xf -2
Resolve —— =" ”_—_mto partial fraction. -é"-“d:‘{u’:w,/d’”f reron (b)
(A7 +1) -

itU={1.2.3.4...10), A={1,3.5,7.9). B={14,7,10} then verify d—B=ANB’

A=B = ANB' & b7 B=(1, 47,10}.A=(1,3.5.7.9},U={1.2.34.....10}.1 (a).7

»

The marks of six students in Mathematics are as foilow. ¢ 5 . 5 ;
P AN AL S AT L LA 5 ()

Determine the standard deviation/ ,
. Student (+°4) 1 2 3 4 5 6 :

Marks(. »#) 60 l 70 30 90 80 42

U | . . \ ;
sind = -~ and terminal side of the angle.isnot in quadrant Ill, Find the values of tan &, sec &,cosec (.
V2

i cosect msect wanl 7 x 2 S S 0k SN U aising = = Ji (a).8
2

Oraw two common tangents to two touching circles of P ‘s o i
radii 2.5 cm and 3.5 cm. WS L DL 35 Mr 25 0L il (D)

Frove that perpendicular from the centre of a circle on a chord bisects it.

«

_q_k'.f ..:-:":JJ 1ok 47 Ja":.»:‘in.f_.;_}b.f;"i’.:;:‘ .9

OR

Prove thal the measure of a central angle of a minor arc of a circle is
double that of the angle subtended by the corresponding major arc.

¢
\,czli‘gﬂiu‘a‘(/W)éis’.-b‘.;i"g';u‘:.;..;hf.’-.‘f-“—:?

S « a 3
bt e iz L S 3T

112-224-1A-24000
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